6L AFHESEERE TUMI—URE

B B : 2022438208 (H)

285 R)IREEET

AR gExH

Momi City.

JAAF

shikawa Prefecture

Japan Association of
Athletics Federations

[EdE] K4 VA5 iz P | AERE EiR0ek
1|2 BERBEF20kmEES A mE |(4F aUF HBAE Bk HiFE 1:18:22[20kmw
2|2 B A B F20kmpEd HA TEH [RT ERTS R IE i) BHE 1:20:49]20kmw
3|2 BAR B F20kmizH MK KN [xYFH F4X5 [EX&E FEE 1:21:23[20kmw
4| % B A B F20kmpE Rl AARB | LSV Y A2a) [E1& FEB 1:21:47[20kmw
5|% H AR B F20kmiz A B |OVFD YagRy [IERETEIS N 1:21:59|20kmw
6|2 B A B F20kmin A # YYEL AL KOBE ATHLETE CLUB EER 1:25:54|20kmw
71| £ HA B F20km3E S Heg ZFth [2F-4H 2V¥ H ST AR 1:29:15|20kmw
8|% B A B F20kmpE WA BX [v<Z 394 Fa G R & B iz 2 1:29:17[20kmw
9|2 B A B F20kmin S #E Ey [y aor [\ EHE 1:31:25]20kmw
£ HARB F20kmin S N R d = BET EER 1:31:38[20kmw
KB F20kmEE % W0 EE (WO F IHEO |HEER AR 1:32:51|20kmw
KB F20kmEE 5 =% % v IDED) Wz FR 25> Wi E 1:34:18[20kmw
KB F20kmEa 5 EE B |EOyT bT7X ([EHISD BER 1:35:36[20kmw
KB F20kmEE 5 HE Xth [aH JE¥ AXEHEKR 1= 2 0:42:36]10kmw
F20kmEE S A mME [7F3F bE/U NST FIIE 0:44:51[10kmw
F20kmiES [HE KA (94 1947 BARE 4| tamE R 1:18:42|20kmw
F20km3Ess [T KEl |[Pawia EQbk IER=Z X% 4 EEE 1:20:14[20kmw
F20kmEzE |BHE 5 A B RINL AMmEERE 4|=ILE 1:20:22[20kmw
F20km3Es |BE HE |[¥2Pa NILE IER=Z X ] 1:21:29[20kmw
F20kmBEH B iR NI= 13y BAXRE 3| KBR AT 1:22:34|20kmw
F20kmzxds |[RIU ZEE [FAHYT SYEd  |[EFEEFEKXRE ABER 1:23:08]{20kmw
F20km3i% |[FF it | LST ISYE BRRAFEAF REETS] 1:23:43[20kmw
F20kmzxds |AEA EBA [42% Uker HERE 2 EEE 1:23:49|20kmw
F20km3is (HIE £ YFENS N\Yh [UbIHEIR—YXZE 4BEE 1:25:15]20kmw
F20kmizs (85K Ha) AXX T4 HEKRE 3IRHFE 1:26:26[20kmw
F20kmBEs [BK it |[VSX AAF BRAKRE 2IRHE 1:26:37[20kmw
F20km@is [FH $HhE [P 17U< SRKXE 3| EEE 1:26:46|20kmw
T20kmE S BRI BE [N\EAHT FHE RRF=AT 1|EEE 1:26:56 | 20kmw
F20kmEgEss |ARER 1EFE [/ \whU a9AA  |[BXREXZE 1| EER 1:27:24{20kmw
F20kmii s [BEE K— [4YN 2(4F PRAZ REFT 1:27:35]20kmw
F20kmzs (AR X AXEX IHIL BEAXE 3| ZRE 1:28:01]20kmw
F20kmEEs (dLft [FE XALT B2 ERKE 3| FHARKF 1:28:26|20kmw
F20kmEi s (#0148 F03E [\ HXF ELEXF 3|=ILE 1:28:30[20kmw
F20kmpzss (iE EAE [FHHFE NILE ME N 1EER 1:28:30[20kmw
F20kmEpd /M BEX  [T3/3vY HUA BMBEKXRE 3|ZHE 1:28:41{20kmw
F20kmEzss S #3 [IHT F b BRRFEXRF 2[fHZJIIE | 1:29:00]{20kmw
F20kmzs [=5F /2 EEPEP) PN 1[fEME 1:29:12]20kmw
F20kmEi S AR £ [F/1\5 AN E+EXSE 2| SJIE | 1:29:17[20kmw
F20kmps [F1R SAER (D4 av3A7 ELXEXFE HET 1:29:18]20kmw
F20kmiss (1815 (C2® (I9/8 SU/RT ILWBIERKE e 1:29:52|20kmw
F20kmEEss |FlE D= [757hKU aovD |[#WEXZE 3|RERF 1:31:07{20kmw
F20kmEES [BER [BF |[RATS O39I~NA |[FBXKE 4| HEE 1:31:13[20kmw
F20km3Ess (BRER BE [/ \whU aDR45  [dhEXE 3 =88 1:31:32|20kmw
F20kmEESH |[FH Hth |oXy LEY E PN MI[EEE 1:31:49[20kmw
F20km3Ess | FE $h ESxHh 25 mEMRE 4LEE 1:31:55|20kmw
F20kmEEd O 6 rMF LA ME T PN 1HEE 1:32:11[20kmw
Fo0kmigh B8 23 [/ vk AFXRE 1[EFE 1:32:55[20kmw
F20kmEEs (MiE B |27 A4k BHIEXE 2|RIE 1:33:26[20kmw
F20kmiss (4 XA (A aoFAY EFXF AEEIS] 1:34:00]20kmw
F20km3EH | Kft K— |FLS5 ZA4F T ERRE K 3| FEE 1:34:49[20kmw
F20kmBEs (HE K |//DIT 34Da Wz KZE 3L B 1:34:56[20kmw
F20kminss (BB Xl [2=HF EOF HRAZE 1 [ FRARRE 1:35:02|20kmw
ws [EE SR (Y YUr TRBRERE RIMET:] 1:35:39|20kmw
EFHEBRF20kmES /M E avs+¥ LY FNXZE S 1:36:16[20kmw
EFEEF20kmEES % BEM[IX/ KD L oN- 1BEE 1:36:23|20kmw
EFEEF20kmEES |ERAAK BE |HHUFX UY PN 3|fEME 1:36:24[20kmw
EFERF0kmES (MK XH |[wYEF AL BHIEXSE 2 EER 1:36:31|20kmw
EFEBF0kmEzS |k A Lk IFX X PN 3|H#Z)IE ]| 1:36:36[20kmw
EFEBRF0kmEzS [P A FTHLS 1943 E+tEAE 3| FEE 1:36:48|20kmw
EFEBF0kmIES |BW A |#HIY a4 hEXE AEES] 1:36:57[20kmw
EFERF0kmES MR BER |[IYNT I0F E PN 4 LEEE 1:37:05[20kmw
EFERF0kmES (Hox A |EES IHE SRR 1|32 1:37:17]20kmw
EFERF0kmES [FHFH KB |LHA 347 PR BN 2|EEIREE | 0:39:12][10000mw
EEFIEEF20kmBES |1A MK (4747 HREO  [I[EREXRE 4| FEE 0:40:38[10000mw
EEFIEE F20kmzzd | BEX ROV A BHIEXSE 2]EHE 0:42:06[10kmw
FAEETFIER F20kmins [BEE R [EA/ XA EE N 2EBR 0:42:46[10000mw
EEEFIERF20kmiiss |KE G |SXE= YIRYT  [BERXRE 2| HEBAT 0:42:47[10kmw
BEFEBRF0kmES MR =X [a/3vY Jgms [BAKE 2IRHE 0:42:51[10000mw
EFEEF0kmEES [FUL BE [ 7XVYI h4bA [BHIEXE 3| KERAF 0:42:52[10000mw
F20kmEEss | g [FH2= FEED EAXE HEI=TS 0:42:54]10kmw
F20kmins (KB —F [2AR AytA S ST K AT 0:43:22[10000mw
F20kmEE [tE BA |[47% Sk BILERKE HESE 0:43:51]10000mw
F20kmzns [sEA A YD LS DalRA [hEKE EEE 0:44:25[10000mw
EEFHEEF20kmud b X (X245 Sav2  |[ELFEXRE 3| KBRAF 0:44:39]10000mw
FAEETFIEE F20kmEESs [(BH FEA (334 Ak MEE N PAMET:] 0:44:49]10000mw

Ri5



[EdE] K4 VA5 iz FE | AERE EiR0ek
F20kmEESH [IUTF mE |vwi4 Paov  |[EUEFTKE 3| ARRF 0:44:49]10000mw
F20kmans [#0)1l Kb [vF+H7T ZALF ERXE 4EHE 0:45:09]10000mw
F20kmEEs |ILF FEX (VWA Jaov | AMEIXRE 1|EERE 0:45:15[10kmw
F20kmins (KB 57 AAE= )3y BEHIEXF 1 RBRAF 0:45:36|10kmw
F20km3ES (B8 B |Fhi 7 FUE TRBEERE 20FEHE 0:46:11[10kmw
F20kmin s [FigE B [FHIR Uk NN 1| KBR AT 0:46:14][10000mw
F20kmEEss |F1E B2 [FrR ULk PN 14EE 0:46:24|10000mw
F20kmzns B & 78+ (Y% HRAZE CEY! 0:46:35[10000mw
F20kmBES B Kith 19 ZFAF BEAKE 2| ENNE 0:46:49[10kmw
F20kmiis [EH @& [FEX FAF L2EEXAF 3|ZHE 0:46:55[10000mw
86| S E B F10kmaz & TRk WA avk SHF +HETS& RE 0:43:32| 10kmw
87| S 4 B F10kmEx s TE B IYFY F7UX %‘#aiy‘w‘yv% % =R 0:43:43[10kmw
88| B AE B F10kmEi 5 £EH K& |44 a3 HEALYCER AT 0:43:53[10kmw
89| S 4 B F10kmER 5 HO $£8% [29F 274> J:EHE‘%‘ % 3| EHE 0:44:00]10kmw
90| S A& B F10kmEE S It B X2LT TR HISK 3| HARRT 0:44:37[10kmw
o [ SREEF10kmiEE B BT 4047 VS FEASts 3 SHE 0:45:26]10kmw
2| EREBEFIOkmEES TE KX [EUHT TuA BFER 2(RvEE 0:45:30[10kmw
93| ERE B F10kmzEd FiZ2 R |7HY¥T7 a90t4  |[EHBEESR 2|ELE 0:45:40[10kmw
94| S B F10kmEE S RiF BEA  [44YH /N\ILE BESK 2|ZEJIIE | 0:46:07[10kmw
95| S 4 B F10kmER 35 &E & EYAH EOY BEALYDER 2|=ZRE 0:46:11]10kmw
96| SR E B F10kmEn S =F B |493% Fo¥% RETrA851K 2(#Z=)IE | 0:46:43[10kmw
97| S84 B F10kmEz 5 L?E w3 ['EUY HAAE BRIy Bei 1[f=)IE | 0:47:06[10kmw
98| S 44 B F10km3E s T8 Xt [ESH 55 Y AR TESK 2 EER 0:47:36|10kmw
9| ERE B F10kmzEd HiZ2 BEX [9FRN HA R85k 3|HEJIIE| 0:47:52[10kmw
100| &84 B F10kmBE 5 EHE HBIAE VY aws0n  [EMIESK 2[=5E 0:48:04[10kmw
101 [ SREBEF10kmEEEH BHF BX (Vo514 442 BB 2|R)IIE | 48.41.14]10000mw
102[E#2 & BF 10kmaz 5 BE BE |[~A 203 BRI B B F E 2|BHE | 0:48:48[10kmw
103| SR £ B F10kmi s BH &5 |[YRY a9Fx ERsR AL, 48.54.0/10000mw
104| Sk E B F10kmiE g X8 BN A< ZUb EHSK 2| KRR FF 0:48:59|10kmw
105 =S4 B F10kmii & RE R [FH4 BOF ?%&ﬁm’f AN 0:49:4610kmw
106 | S 44 B F10kmz 26 %E = k% ERIL ERMESK 3IFEE | 21.12.58]/5000mw
107 [S# & BF10kmiE S S EEE (AT ByRA ERIZER 3|EEE | 21.15.24[5000mw
108| S % BF 10kmaz & BA =2th  |[RX¥ 7I¥ ENEE=Sk 2|EHE | 21.17.52]5000mw
109 SREBEF10kmEEd AR BZBI XL JU/RYT | BEER S|ELIE | 21.20.99[5000mw
110| SR 4E B F10kmzi 5 ME BX |[FX FEED KRFai 3[FEE [ 21.59.36/5000mw
111 | 4% % B F 10kme s> LY EEE T BEH e 3| KBRAF | 22.21.37|5000mw
2| S E B F10kmEES RIS SB[ A Tx SauAF bt fam e 2|REFF | 22.30.4[5000mw
113[ S B F10kmi b fhE %8k [FHF FEER EHEESK 2| REBFE | 22.31.27[5000mw
14| S B F10kmii 35 28 . [FIP< Iy B RS HENE | 22.34.69[5000mw
15| & 4% % B F 10kmea > EH BR |FvR d1otd  |[aNEEk 3|EFHE | 2235.52[5000mw
116|544 B F10kmzx s IWF #A [r=i4 a9k B LESR 2| EEE | 22.38.05[5000mw
17 [SRE B F10kmiE S A BAX [AFHI S8 AFEFEER 2| R¥E | 22.41.84/5000mw
118 EREBE FI0kmEiEH tRE= BB VA Y% BF = 3[FEE [ 22.47.63[5000mw
9 BRERFIOkmEaS EH =z |[JhNvYy X% |BRUBEER 2|BEE | 23.04.78[5000mw
120| &4 B F10kmBz & BAk —ZE|BHX 4F/P0 | KEEESR 3#EBEE | 23.09.75[5000mw
121 [S4R4E B F10kmBi 35 IMA BX|AF) avs EMBASE 1]5%2 | 23.10.50/5000mw
122[ B E B 7 10kmaz 5 ERA A |[HHE FAF EIEE SR 3[8M& | 23.28.69]5000mw
123[ B4 BT 10kmAE & Bl £ [Dovx X5 | mSIFReR 2| ERFT | 23.38.65[5000mw
124 SR EEF10kmEES TH LK [FTF 394 EHRTZESK 1[RIFE | 23.39.55/5000mw
125| SREBF10kmEEd £F & hx3a 5 ARESK 2| EIE | 23.40.87(5000mw
126 544 B F10kmzz s BE FI [Y=95 vagk [RIIRITIESK 1{EJE | 2342.83[5000mw
127| &1 4 B F 10kmEH 5 Afi WE A4 =S 743 PSR 2|Z5E | 23.44.90[5000mw
128[BREBFIOkmins  [H B8 [YXH Jo(FO7 [FEHASK 2|FFEE | 23.45.31]5000mw
129| &S84 B F10kmiz S a3t fil 474 T3 BRALYUERKR 1ZRBE [ 23.45.73[5000mw
130[ S E B F10km3R S HE M@ [LShs hALT |[KPIEZEER 3[R [ 2351.55[5000mw
131 [ EREBEF10kmEEE A BE [EHLS TatA [ELEEFMAER 2|=WE | 24.12.95[5000mw
132|544 B F10km3pi s B W IR 74 INRKBER EJE | 24.13.86[5000mw
133 B E B F10kmiR s J\IE g EAY EEHERTSR 20EE R 24.16.02(5000mw
134| SR 4E B F10kmzzh it | /LS Yk AETESK 2[IFEIE | 24.18.33[5000mw
135|544 B F10kmBE FH Bt [9F3 v BEALYDER 1[ZRE |24.18.92[5000mw
136 | =k 4 B F 10kmi B BE O [FHLS YN FRAR T AL P SR = 5 2| FERAF | 24.23.21{5000mw
137 | &% B F10kmBE & FK BB [VEX FTvAY EUSZEEMER 2l 08 | 24.23.94]5000mw
138 E 4 2 B 7 1 0kmiz 5 FE B ([JAYD NILT) il lrak 2|FKIR | 24.26.45/5000mw
139| &84 B F10kmBE o fE# (v F a9 FRERXEZMESK 2| IR 24.36.00{5000mw
140544 B F10kmpi s EF'JII giE  |FHA7 FA7X [HEaR 2|#Z)IE | 24.52.88]5000mw
141|514 B F10kmii b F.s 2 9395 XHa1% | FHASK 1 EHE 5000mw
142[h S 4 B ¥ 3kmii s ER +3 ko4 Davk 2 RMIREF PR 3|EJIE 0:15:42[3kmw
143|h % & B F3kmii s ='=Ea FE |34 awd &I L R 3[RIE 0:16:53[3kmw
144[h 2 4 B ¥ 3kmii b HA BIK |hi7X VoA th S RE B R i J[MEIJIE| 0:18:02[3kmw




[EE] K& 2UA+ & S [ ENERE Bfgatx

1 F20kmin 5 HE AEF|AHF 430 HRER HRAR 1:29:56|20kmw |15
2 F20kmEx BH ELAF(IZ04 FF3 ITA4%> RIRAF 1:30:45[20kmw | K15
3 F20kmEE S Y EE |U3HA F= EEASE S FIEE 1:35:16[20kmw
4 F20km3i 5 EH #H®BZE|V/4 LT NTN =88 1:35:21[20kmw
5 F20kmBi 5 F# BEFE|JFt YX=2 BETE ot 1:36:49|20kmw
6 F20km3i 5 EO REH|ZVIF 21Xk % I=D=IN ot 1:41:57|20kmw
7 F20km3n 5 =28 BE [4h/\> o753 SNE Athletes MEJIE | 1:45:12|20kmw
8 F20km3i 5 AH &oF |45 Hyx é?ﬁ%‘m‘# HEE 0:47:36]10kmw
9 F20km3x & —XK BE |4FF% <V FHHELFEERE =] 52.30.26{10000mw
F20kmEES (HH ADY |[vIH2 S/ rttriult—ijc AEE] 1:35:56[20kmw
F20km3EH [T {—% |2FAH ERS R 5t K= 2| KR AF 1:36:02[20kmw
F20kmpiEd |18 EF |9A/ 2%0 J|E3€ij(—‘ﬁ HEEL 1:37:42]20kmw
F20kmis |AEE KMt [F(4b 33 LIPS 1HEARE 1:38:50[20kmw
F20kmEEs (fiE B LFSHS 74 e 3|RERIE 1:40:38[20kmw
Fo0kmizd [ & AX¥NYL 7as [ KRXFE 2| KR AF 1:41:44[20kmw
F20kmiES [EHE Bl [AF74 YR hERE JIRHFE 1:42:08[20kmw
F20kmzzd |FREA B [EUER IF RABBEKRE B R 1:43:46[20kmw
F20kmizss | AH #0 *LZ /KA BiEHEXE 3[FEHE 1:47:28[20kmw
F20kmzi |[AA BEFE |AHES LD hERKE 2| KR AF 1:49:01[20kmw
F20kmEEs SV P B |FFOQ a3hH ERERE IR 1:49:18[20kmw
F20kmaEs |BiE HE [49F2 FH ERFRRE 1ABJIE 0:48:20/10000mw
F20kmEEs |)IiE DEH |[HIN /U %EExﬁ% M1 B 18 0:49:13[10000mw
F20kmEgEs |MAR HHH [IYEL SF3 ElEPNS JIBEE 0:49:15|10kmw
F20kmEES BEO UOFEDLYEXIF EXDY  |RRFRAE 1|AJE 0:49:23[10kmw
Fo0kmiEd |SEM 3= DINE TFTAA EFERE REE 0:49:31[10000mw
F20km3is |BREF 4R 2/ hIT EHZEXFXE 1| KR AF 0:49:59[10000mw
F20km3Ess L/ KRR [ X4a0Y I R oN= 3| TEE 0:50:42[10000mw
F20kmEES (@IL F¥  |[DJ2o¥< FEQO PR E N 3|42 2 0:51:07[10kmw
F20kmzs [KEE & ED42Y a4 P E N 1|t 8 0:51:26[10kmw
F20kmEEs (i lﬁiﬁ vxT YT PR E N 1152 0:52:24]10kmw
F20km3EH (A & 543 N\ILA PN 1[EME 0:52:37[10kmw
F20kmEzEs | 1R EHY HIT EHRFEXFXE 1| KR AF 0:53:04]10000mw
F20kmzxds | K HBRiE  [A473I SX+ L N 2| FEE 0:53:06/10000mw
F20kmzzss |BIR #kiE  [/UZT EED hEEERE AL 0:53:13[10000mw
F20kmBES (=8 FE |S32 TYS BILFERKXE ANNETE] 0:53:15[10000mw
F20kmzns [ FigE +Hh UF BEDKEFKE 3|HZ)INE ]| 0:53:25[10kmw
3 F20kmEgss MR RE [wYEF 1V N2 1| EIFE 0:53:30/10000mw
SRELZF5kmi S WE FE | vIxs A T+ HETS& [FBE 0:23:05[5kmw
=i A L FokmEE EH 0% (25 X REEESRK 2B E | 23.12.96/5000mw
EREZFokmEEd h#f g |FHLS TYH EHESK 3| EFE | 23.20.25/5000mw
ERE T FokmEEd B3 BEM |THAF <A BRI S 2|Z5E 0:23:23]5kmw
ERE L FokmEEd Hf ¥& [2+5h X% %‘mﬁb;v.—.& 2l=RE 0:23:32[5kmw
=i FokmEE B2E X8 [3h4 VX EFESRK 3|HEE | 23.45.40[5000mw
SRELFSkmErd h¥ ¥H |Fh/ HYE HHERSK 3[IKEE | 23.54.78]/5000mw
ERELZFokmiid E# EF |EO0t FYE 2R 2| R AB 0:24:09[5kmw
SRELFSkmErd N BE [O0% 14 AERSK 2B EE 0:24:23|5kmw
ERE L F5kmEE b8 & [Fhv H/ AEHESK 2|BEE 0:24:44|5kmw
ERE L FokmEEd B BLS S5 Etak 2 Eﬁlﬁ%ﬁ 0:24:50[ 5kmw
ERELF5kmisi S K B [EXE= FUF EEHIARES K 2|i%E 24.56.78]5000mw
SR FEkmBE hE & FTAR NILA BEFE SR FEE E 0:25:255kmw
=i FokmEE WX nE [v<EF /7 e Bl = 1 2 EJIlLr 25.26.84]5000mw
ERELZF5kmEES IR RE [anvYY LT =t 3|ZEE | 25.39.99]/5000mw
ERELF5kmis S FE ME |N¥D5 HFS FRIGEHESK T 0:25:47[5kmw
ERE L FokmEEd BMO B [E9F UL FEFE K 2|FEE | 2552.11[5000mw
ERELF5kmis S AR EE |OHRY hiF RABRABES K 1[XBRFF | 25.53.92[5000mw
ERE L FokmEEd Il _BEZ|[7H7 EF4E R AZMEEESK 2|#Z )12 | 25.55.87|5000mw
SRE X FSkmin > EfE A& [aVFEY AT BEERK 2[IFEE | 26.05.45[5000mw
ERELZF5kmiEd i) EB% FTHIY A< BHBAEK 2|h#BIE | 26.09.58/5000mw
ERELZFokmind TH ES2 /U AE =R 2|EEE | 26.20.78]5000mw
ERE K F5kmEE S Ed IBEE TAI H95 [N AL 2 EE’ =] 26.25.96[5000mw
ERELZFokmind BE Y@ |[A9F 19h *ax;mﬂﬁ.—:& [ES L%'— 26.28.69]5000mw
SR T FEkmBE / \#2 (Y EEE =D ,g%.—, % 2 ?$=’—<J|| 0:26:28|5kmw
ERELZFokmind 8 B& MM EEH HESK 1|E1EE | 26.34.70[5000mw
ERE L FS5kmEr s AR _E0h [¥X HvH E%BI#“.—J 2| RARAT 26.36.2[5000mw
ERELZFokmind FER HNE|(DHYE JhF ERMESR 1[IKEE | 26.39.16[5000mw
ERELZF5kmEEd EfE EF [3FD 39Ah N EBy EEK AE 0:26:40[5kmw
ERELZFokmind il &1z | 75K RET REB T F PR AR 2| HEBAF 26.41.6[5000mw
ERE L FS5kmEr s BO FZ& [EAVTF ARE INAEESR 2|BJIE | 26.43.61/5000mw
ERELF5kmii S WA #F |[vIEL 24 .—quqﬂ%.—; B 1[=%1E | 26.46.48[5000mw
ERELZF5kmEEd tin FE |A7/\2 NILA Tt 2|BJIE | 26.54.61/5000mw
ERELZFokmind MR k| 75A4AT Yk INAB R 2|RJIE | 27.01.59]5000mw
ERELZF5kmEEd RiE #E |M(FHF Favh z:r?aaﬂﬂ* % A= 0:27:12|5kmw
BREXFSkmind R PX |[RRF BT JEEZRE S 2|RJE 0:27:18[5kmw
ERAEZFSkmiEg s BE S8 7R 7N AES 3‘& 25 FEE | 27.27.86/5000mw
ERELF5kmii S s BAHE |EQ4H FRA EHIESK 1[EHFE | 27.29.92[5000mw
SRE X FS5kmEES HT #F [EUSZ2 X JEEEFER SR 3| RJIIE 27.31.85[5000mw




i1 K% SUAT e FEBERR]  ARaR
XA 2 F5kmii 4 B okt |\ EFA BEAEISK EWE | 27.37.20[5000mw
% & & 7 5km3a HA m [JILY FA e ek AR | 2752.25[5000mw
i 2 % F 5km a2 B S0 7oA ) BLBEOER T ok RS | 27.5351[5000mw
% 5 & F 5kmas EH BE (105 7Yh BLUBEDE R T &k LEBE | 2753.30[5000mw
XA 2 F5kmii 4 A W5 [AHF a9 RIEBEK KIRAF 0:27:53[5kmw
% & & 7 5km3a —H BATE [ IR LT X35 EEE A SR EE8 5000mw
F & F3kmiE3 EED *5) ZX BELRESD 0:02:23(800m
E & ¥ 3km35 3 AR BF (#4977 5% P EFETER HEEE | 00508[1500m

ZF3kmiEd AE O |47 F¥%5 BEC1-TEEIST AJIE 0:17:49[3000mw

ZF3kmpid % BEx (YO ayf & IRMILIR PR AR 0:17:55{3000mw

L F3kmis 3 INI| R | AHT %9 BLEEDE L FhFEK LER 0:18:19/3000mw

ZF3kmEzd WE il (7Y AXN SNV -FETR IR P ER BEE 0:19:25[3kmw

BB BB BB | B { | {ma ok ok ok ok ok

(3 W3 W W W A A A e
[ I [ [ [ [ [ [ T [T [ [ [ [ [ [

S o e e e e

—‘NN—‘NNN&Q}&NNN—‘NNH
fa
el
=

NATNATESAT AT AT AT PSATPSAT P SAT AT AT AT AT AT AT AT

T F3kmisd EH xXEs |[hPA4 ¥ & L L g AR RIINE 0:20:30|3kmw
E &2 F3kmix 4 Afr#t 73 [323lL5 73 SERER AIE 0:20:34|3000mw
F & F3kmznd En #= |2y 2F £ RIS RIIE 0:23:17[3000m
E 4 F3kmin RiE #DY [4IH /Y JLBEZE IR R R AIE 0:17:38/3000m




